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(K] [E1Z3K @ 85.5%
FR4 1R | 2 BFRE | 3RS | 4 AR | 4 AN E
BTN NI 77.1% 15.6% 3.8% 1.0% 2.4%
ANEEE 29.0% 32.8% 25.2% 7.6% 5.5%
BYAXx I AR 46.5% 34.0% 12.5% 4.0% 3.0%
halal S 80.5% 14.6% 3.0% 1.8% 0.0%
EYRX 60.0% 31.0% 4.0% 3.0% 2.0%
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€52 EPNEE [E1ZK : 86.2%
FR4 1R | 2 @RS | 3EMEARS | 4 FERSE | 4 AU E
HEXE 69.0% 31.0% 0.0% 0.0% 0.0%
WMIRHE 81.0% 15.2% 3.8% 0.0% 0.0%
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[K#] [EZ : 80.1%
FRZ 1ERIERS | 2BEER | 3EERE | 4REERB | 4 BFEUL
HERE 69.4% 21.8% 4.4% 1.5% 2.9%
AEEE 39.0% 39.9% 15.3% 3.2% 2.6%
BYIRE 51.3% 32.7% 12.8% 1.3% 1.9%
REHE 77.6% 13.9% 5.5% 2.4% 0.6%
EYRR 75.0% 21.2% 1.9% 0.0% 1.9%
(F2 AR F 5] [E1ZK : 95.4%
FR4 1 R R 2 AR 3EEARNE | 4RREERS | 4 BFEULE
4EXE 69.1% 25.0% 4.4% 1.5% 0.0%
$IBREE 82.5% 15.0% 1.7% 0.0% 0.8%
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[KF] [E%3K : 65.9%
FR% 1R | 2 MRS | SRREARN | 4BEERE | 4BEAXE
BaeER 82.0% 14.1% 3.4% 0.0% 0.5%
INGESE S 33.8% 39.1% 19.3% 5.3% 2.4%
BYIRE 54.2% 26.8% 15.0% 2.6% 1.3%
BREHE 77.1% 16.2% 3.9% 0.6% 2.2%
EY R 76.1% 17.4% 4.3% 0.0% 2.2%
CE2:ipNEaED) | [ : 93.5%
FR% 1R | 2 WA | SRR | 4 BREERS | 4BEAUE
H3EXUL 65.8% 21.9% 8.2% 2.7% 1.4%
$hIRHE 85.4% 9.7% 4.9% 0.0% 0.0%
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